WEEK 4 — MATHS FORM CHALLENGE L @sthildasmaths

m?eter’s watch is 2 minutes too slow every hour.\ 'bj] StHildasMaths

KEY TERMS OF THE WEEK
Trapezium — a four-sided 2D
shape with exactly one pair of

Paul’s watch is 1 minute too fast every hour.

They set them to the same time at noon on ,
Sunday. Next time they meet, one of the parallel sides. /
watches is an hour ahead of the other. Submit your answers on a
piece of paper with your
name and form on by the
END OF FRIDAY to the box
by student services.

“Do you know the third cube number? That’s) Winner revealed next
how many pairs of skinny jeans | own” Wednesday!

When is the earliest time they could have met?/

Mr. Walsh’s Fun Number Fact:




